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1 Bl & E i LEEREX 3 68 35 33 68
2 7w B M B BHIEKX4 70 35 35 70
3 R O & FE ZEEBEREKX 4 72 35 37 72
4 th B X E bR e K 3 73 36 37 73
5T | & B REHE th &R ERE K 3 74 38 36 74
H FE B K EHRK 1 74 38 36 74
E R K B ZRIK 2 74 39 35 74
H & B = hEf=ARE K 4 74 37 37 74
oT | &8l H &HHY h &R ERE K 3 75 40 35 75
& £ K K 3 75 38 37 75
a2 X K BHIEKX 75 38 37 75
X & # &F EIRFEBRK 3 75 36 39 75
13 7 % Z K FHK 4 76 39 37 76
14 oW Bk E FLLK 2 77 39 38 77
15T | ¥ B = H BHIEK 78 39 39 78
A ZEEEEKR 1 78 38 40 78
E B 8 o ZEEBEEKRS 78 40 38 78
18T | U W 3F K ERFEREKX 1 79 40 39 79
= 0 XAHE hERFRER 3 79 42 37 79
A K RFIER X 1 79 37 42 79
X & B E LUK 3 79 40 39 79
22T | i % B = ZHFREK 3 80 44 36 80
g g K # THIK 1 80 40 40 80
=5 B T 1t LEEEEX 3 80 40 40 80
25 x HF = MW P ERFREK 3 82 43 39 82
26 kR O E & th &R ERE K 3 84 40 44 84
27 E H B ¥ ZHFREK 1 86 41 45 86
28 A HI F & LEEEEKX 2 87 44 43 87
29 B B 8R&E hERK 4 88 44 44 88
30 | B H EEF EIWFRRK 3 90 45 45 90
31 N BXRF R 4 92 44 48 92
32 h ¥ B F LHEBEEX 2 96 47 49 96
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